
Exersice -10 CD) 

1982021 

Q1 Find the HCE of the fallaing 
a and 16 

facetor of 8-1,32,4 

factor af 16 L16,2.8 
HCE -8 

b12 and 24 
tactoc of 12-2,6,1124 

tactor af 24-24,1,2, ,1,3 
HCF-12 

2 and 36 
Factor of 24-211,2,O13 

Factor of 36- 12,3,16112)18
HCF: 12 



5and 10 
Foctor af 5-16 

Factar of 10-51,10.2 
HCE-5 

e15 and 30 

Factor of 15-105,3, 
Factor of 30-3,10,1,30192 

HCE 15 

and aod 6 

factor of -Q,14 
Factor af 6-2,3,6,1 



Poge 

54 and 12 

Factor of 51-1,2,3,4,6,9,1) 

tactor of 12 KL IEF 
123,231 

HC-18 

h256 and t0 

Factor ef 56156,28.1)1 

actor of O-1,10,35(1911 

HCF-11 

i23 and 25 

Factor 2323 
15-.25,5 Factar 

HCF- 1 



Date 
Puge 

2 and 56 
Fac toc of 92-21,142,2,6,1093 
Factor of 56-1,5619,28,2
HF 19 



{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

